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Directions— (3. 1 to 25) What
will come in place of guastion mark

5. Sdd - 307 + 119= 7 + (18 a. 1.;_'_111_1:*'%_?

{E)} Mone of thise

(5P & (25)° = 125 = (5)7

(A) 2 B 4
C) 3 o) 5
(E) MWone of these

.%mz&mm-m
(A} 4 8] 24
{C) 16 D) 12

(E) MNone of thasa

. B5 %6+ 56— 20= (7

(A} =6 (B) —36
(c) e D) (38)?
(Ey =48

(A)] 5455

(B) 5454

(C) 5545

(D) 5445

(E) None of these

7. M x16+5=58=7

(A} 40. (B8) 352
{C) &0 D) 44-2
{(E} MNone of thasae

B. (368 x4 =5)+92= (72

Ay 8 (B) B4
(A) (B4 o) &
{E) 18

10,

in tha lollowing guestions 7 (A) & |

{#in " (C) 500 (D) 408 A) = By 15

1. 2% ol 250 + 35% of 460 = T 10 20
(E) Mone of thesa

{A) 216 (B) 226 <y EI' (o} 11

(C) 232 0y 242 6. 5544 —BEII + 7744 =T+ 1111 0 20

(E} Mone of these

6739 —11-78 + 1963 = 7
+ 2241
(A) 5273 (B) 5283
(C) 6578 (D) B4-T8
{E} None of these
63 65 75 .
1Tz te

1 4
a 2g ® 13

5 ¥
© g g

(E} Mona of thase
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12, 52% of 7 — 28 = 305 23. 79% of B5O0 « 541 = 1255 7 4 3 s
32 Outof the ractions - - 4. 3, 5

(A) 640 (B} 580 n) 74 (B) 84 ol the fr B8 7' M
(C) 550 (o) (€) s8 () 78 and J= what is the diference

{E} None of these

(E} Maone of these

betwesn the largest and the
smallest fraction 7

13. 18 x8+117 +35= 158+ 7 24 {"’F‘*ﬁ'}a_“'“_m:m?
(A) 148 {8) 158 padi: (8) &3 A op ® 2
ic) 115 (D) 138 (c) V&3 (D) 9 s 3
{(E} None of these E 7 € g D) g
25, 14-T43 - 19-679 + 13167 =7 13
14 06= 1B +05x 12=7 (A B-231 B 11-421 E)} &g
A 2482 (B) 25892 () @831 (D) 12781 ;
(C) 1846 (D) 1746 . What value will be obtained if the
(E) Nons of thess 26. Eﬂtluﬁﬂfﬁrmrmﬁm aum of (11)% and (47 ia e
15. = of 2 of 675 = 7 e ﬁzhmg:‘i”
T = 240 280
8% 25 P €) (C) 582 (D) 582
(A) 40 (B) 55 ) 220 (E) Mone of these
(C} 35 (D) 75 {E} Mone of thass )
© | of 27. The area of & rectangle is four- . Pankaj purchased an fem for
third the area of a square. The T 7.500 and sold it af the gain of
16 (15 =xT)=(Ex3I)-63=7=E area of the squara is T29 sq. cm 24%. From that amount ha pur-
(A) 4 (B) 18 ;ﬂmmfﬁwn chased another tem and sold it
148 o cim. al is e at the loss of 20%. What is his
::]' of (©) 132 between the side of the square overall gainfoss. 7 *
(E} MNone of these and tha braadth of the rectangla 7
7 3 g (A} Lossof ¥ 140
7, L_2.2_, (&) 18 cm (B) 27 em
12 473 (C) 24cm (D) 15 ¢m (B} Gainof T60
g B 35 (E} None of these (D) Meither gain nor loss
1 q 28. The sumaf Tive consecutive num- E} Mone of the
rc:ri 'mE bers is egual to 170. What is the © of
product of the largest and the What will come in place of bath
(E} Mone of these smallast numbers. 7 the question marks (7} in the
18, 27 =81 = 243 = 37 -4} A} 1512 B) 1102 Tollowing question 7
(A) 4 (B) § {C) 1182 D) 1210 (75 5
c) & o) 2 (E) Mone of thesa a5 —(mA
{E} HNone of these 29, How many packe!s are required (A} 15 &) (225
19, 52142 — BET4 = 7 + 11289 fntfﬂqus_mra‘snlmllk I eaeh s
_ packet is filled with 250 mi of (Cy 225 o) V15
() 32160 (B) 31279 milk 7 (E) +as
C) az279 (D) 312-59 (&) 75 (B) 110
{(E) None of these . Six boys can complete a piece of
ic) e0 (o) 120 work in 16 hours, In how many
0. (B8 -115) +23 =7 + [-8) {E} Momne of thase hours will 8 bays complate the
(A 24 8) -16 20. Sonal runs 220 metres every day, zame plece of work 7
) =24 (D) 18 Haow many kilometres will she nun Ay 10 (&) a8
{E} Mone of these in 3 weeles ? © 12 D) 14
5 (A} 442 {B) 562 {E} None of t
2, ﬁﬂlﬁ?ﬁﬂa‘lﬁr? (C) &32 D) 462
" o € @ (E} Mone of these . The circumierence of a circla is
© 72 -8 31. The average speed of a car is squal to the parimater of a
L~ twice the average speed of a reciangie. The length and the
(E) MNona of these truck. The truck covers 48 km in Beeadth of the rectangle is 45 cm
E— 24 hours. How rmuch distance and 43 cm respectivaly. What |2
22 VB 12+ 18+ 26-8=7 will the car cover in 15 hours 7 half the radius of the circle 7
Ay 81 (B} (@1 (A) 820km  (B) 1024 km (A) S6em  (B) 14em
c) 3 o) 2 (C) 810km (D) 980 km {C) 2Bem (D) Tem

{E} Mone of these

(E) MNone of thase

(E} None of these
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38.

41.

42,

The simple interest accrued in 8
years on a principal of T 20,000
is one-tenth the principal. What
is the rate of simple interest
p.c.p.a. ?

(A) 115 (B) 2-25

(C) 1-25 (D) 2-75

(E) MNone of these

The height of four boys is recor-
ded as 142 cm, 156 cm, 162 cm
and 178 cm. What is the average
height of all four boys 7

(A) 160 cm (B) 158-5cm
(C) 159-5cm (D) 162 cm

(E) None of these

Pratual’s monthly income is one-
fourth Manoj's monthly income.
Manoj's annual income is T 2-16
lacs. What is Pratul's annual
income 7 (In some cases monthly
income and in some cases
annual income is used).

(A) T 54,000

(B) T 5-4 thousand

(C) ¥ 4,500

(D) T 45,000

(E) None of these

The ratio between the present
ages of Punit and Suresh is 4 : 5
respectively. After seven years
Punit's age will be 31 years. What
was Suresh’s age 4 years ago ?
(A) 24 years (B) 28 years

(C) 34 years (D) 30 years

(E) None of these

Reena got 76 marks in Hindi, 48
marks in Science, 84 marks in
Maths, 38 marks in Social
Science and 72 marks in English.
The maximum marks of each
subject are 100. How much
overall percentage of marks did
she get ?

(A) 63-8 (B) 62-6

(C) 63-6 (D) 64-8

(E) None of these

Directions —(Q. 43 to 45) What
will come in place of question
mark (?) in the following number
series 7

748, 460, 316, 244, 208, 7

(A) 180 (B) 190

(C) 172 (D) 182

(E) None of these

44. 17,98, 147,172, 181, 7
(A) 180 (B) 192
(C) 184 (D) 182
(E) MNone of these
45. 11,19, 31, 47,67, 7
(A) BO (B) 81
(C) BB (D) 96
(E) None of these
Directions —(Q. 46 to 50) In each
of these questions an equation is
given with a question mark (?) in place
of a correct symbol. Based on the
value on the right hand side and the
left hand side of the question mark,
you have to decide which of the
following symbol will come in place of
the question mark. Give answer if in
place of question mark (?) following
will come —
(A) = (greater than)
(B) = (equal to)
(C) = (less than)
(D) = (either greater or equal to)
(E) = (either smaller or equal to)
46. [(52 — (4)3) x 5]
?[52 = 8 — (4 x 5)]
47. [(15 +3) + (35 = 7)]
?[(138 —94) = 4]
as. =[(+256 —v64)] )
?[V(10)2 - (6% ]
49. [(52 = 3) +12] 7 b/196]
50. [156 — (36 — 42)] ? [(9)2 = 2]
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Answer: Numerical Ability

1 A 26 B
2 A 27 D
3 B 28 c
4 A 29 E
5 C 30 D
6 E 31 c
7 C 32 A
8 D 33 B
9 D 34 E
10 B 35 A
11 B 36 C
12 D 37 B
13 D 38 C
14 B 39 c
15 E 40 A
16 E a1 E
17 A 42 c
18 C 43 B
19 E a4 D
20 D 45 E
21 C 46 B
22 D 47 c
23 B 48 B
24 C 49 C
25 A 50 B




